
SAP ABAP table AFIHF {PM Order: Fields AFIH w/o Key}

AFIHF

ARTPR [CHAR (2)]

PRIOK [CHAR (1)]

EQUNR [CHAR (18)]

BAUTL [CHAR (18)]

ILOAN [CHAR (12)]

ANLZU [CHAR (1)]

IWERK [CHAR (4)]

INGPR [CHAR (3)]

APGRP [CHAR (3)]

GEWRK [NUMC (8)]

KUNUM [CHAR (10)]

GAUEH [UNIT (3)]

WARPL [CHAR (12)]

LAUFN [CHAR (12)]

OBKNR [INT4 (10)]

REVNR [CHAR (8)]

ILART [CHAR (3)]

QMNUM [CHAR (12)]

SERMAT [CHAR (18)]

SCREENTY [CHAR (4)]

AUFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)]

 AFIHF-LAUFN = AUFK-AUFNR 
0..N

{0,1}

CRID

MANDT [CLNT (3)]

OBJTY [CHAR (2)]

OBJID [NUMC (8)]

 AFIHF-GEWRK = CRID-OBJID 
0..N

{0,1}

EQUI

MANDT [CLNT (3)]

EQUNR [CHAR (18)]

 AFIHF-EQUNR = EQUI-EQUNR 
0..N

{0,1}

ILOA

MANDT [CLNT (3)]

ILOAN [CHAR (12)]

 AFIHF-ILOAN = ILOA-ILOAN 
0..N

{0,1}

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 AFIHF-KUNUM = KNA1-KUNNR 
0..N

{0,1}

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 AFIHF-BAUTL = MARA-MATNR 

0..N

{0,1}

 AFIHF-SERMAT = MARA-MATNR 0..N

0..N

MPLA

MANDT [CLNT (3)]

WARPL [CHAR (12)]
 AFIHF-WARPL = MPLA-WARPL 

0..N

{0,1}

QMEL

MANDT [CLNT (3)]

QMNUM [CHAR (12)]
 AFIHF-QMNUM = QMEL-QMNUM 0..N

0..N

SER00

MANDT [CLNT (3)]

OBKNR [INT4 (10)]
 AFIHF-OBKNR = SER00-OBKNR 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 AFIHF-GAUEH = T006-MSEHI 

0..N

{0,1}

T024A

MANDT [CLNT (3)]

WERKS [CHAR (4)]

FEVOR [CHAR (3)]

 AFIHF-APGRP = T024A-FEVOR 

0..N

{0,1}

T024I

MANDT [CLNT (3)]

IWERK [CHAR (4)]

INGRP [CHAR (3)]

 AFIHF-INGPR = T024I-INGRP 

0..N

{0,1}

T352R

MANDT [CLNT (3)]

IWERK [CHAR (4)]

REVNR [CHAR (8)]

 AFIHF-REVNR = T352R-REVNR 

0..N

0..N

T353I

MANDT [CLNT (3)]

ILART [CHAR (3)]

 AFIHF-ILART = T353I-ILART 

0..N

0..N

T356

MANDT [CLNT (3)]

ARTPR [CHAR (2)]

PRIOK [CHAR (1)]

 AFIHF-PRIOK = T356-PRIOK 

0..N

{0,1}

T356A

MANDT [CLNT (3)]

ARTPR [CHAR (2)]

 AFIHF-ARTPR = T356A-ARTPR 

0..N

{0,1}

T357M

MANDT [CLNT (3)]

ANLZU [CHAR (1)]

 AFIHF-ANLZU = T357M-ANLZU 

0..N

{0,1}

T399I

MANDT [CLNT (3)]

IWERK [CHAR (4)]

 AFIHF-IWERK = T399I-IWERK 

0..N

{0,1}

TQBT

SCREENTY [CHAR (4)]

 AFIHF-SCREENTY = TQBT-SCREENTY 

0..N

0..N


